&N F(A, B)o 3R A N— NIRRT (2, y), B H— Sl it

o WIH B H=Jt#ll (a,b,c) W f(A, B) & (z,y) *THEZ ax + by + ¢ = 0 (IxTFRA
o MR BALTA (20,0, ,b,¢) W f(A, B) iR (z, y) Lest (o, yo) MMEFIER 0 R,
Hisind = £, cosf = £, i a® + b = c%,

#X g(A, B):

o I ANHIA (20, Y0,a,b,c), WHE (x(,y5) = f((z0,y0), B), FHIREGHHIFITH
(20, Y0, @, b, €)

o WR AN=Jtd (a,b,c), MRE—H (a’,b, ) 2
{(z,y)la'z + by +c =0} = {f((z,y), B)|laz + by + c = 0}, AILAUEHIEFER o’ b, ¢
RURTEIER,

WAER—NKER n 75 A, BATEN=TCHR R I, H =R

1 s,y b, W F(@0) A1) s Ar 1), Ay).
2.4 a,bye, L, 01 <id <riA; B g(A; (a,b,c))s
3. 485 o, Yo, a, b’ C,l,'l’, 1 <i<riyA; ZK g(Au (wan(),aa b’ C))O

I q RERIE, EEH 008244353 T n,q < 10°
#Y M(A) #7 f((z,y), A) M RIIEERE, e

f(z,9),4)=(z"y) = [z y UM(4) =[z" y I
RAERBA T =724l A = (a,b, ¢):

b2_a2 a2_b2 0
a’4b? a’+b?
— 2ab 2ab
M(A) — | T a2y RS 0
_ _2ac __2bc 1
a2+b2 a2+b2

XFHITH A = (J]‘O,yo,a,, b, C),sine — %,COSG — %;

cos sin 6 0
M(A) = —sind cos 6 0
xg — xgcosf + ypsinf 1y — xpsinh —ypcosh 1
R BATERIEN [z y 1 M(A)M(Apq) ... M(A4,),
#1& g(A, B) F1{t4. BiEARELR:
o W% BN=jid, M2 M(g(A,B)) = M(B)M(A) M (B)
o W% B AT, Mo M(g(A,B)) = M(B) *M(A)M(B)

BIEIE, e MR RgiemE M((a,b,¢)) " = M((a,b,c)),
M((zo,90,a,b,¢)) "t = M((z0, Y0, —a,b,¢))e FTLAMJLITE SLRRE, — T — K ELXFRF
RISk, BT M ((a, b, ¢)) M ((a, b, ¢)) —E R8Nk, SRIE— DRt 0, Fiefk
—0 —ERFECRI S, i M ((z0, yo, a, b, ¢)) M ((x0, yo, —a, b, ¢)) —E 2 AN,
o N A N—=JjrdH:
o R B N=Jut, HLHEE RHIE:



FHERI M (g(A, B)) = M(B)M(A)M(B), #%& LHELE,
o W% B AL, Mo

bl M(g(A, B)) = M(B) 'M(A)M(B), & LRfsie,

o IR A NFITH:

o R B N=Jté, H~:



2 M(g(A,B))
o 9 (A: B)

R4 M(g(A, B)) = M(B)M(A) "' M(B).
o W B HLTTH, Wi

<<~

Bt M(g(A, B)) = M(B)~'M(A)M(B)
DA LRI ] DA 80 135,



(R FE (LR, X T — BRI [1, 7], #6957 M(A)M (A1) ... M(A,), %E0E B 2=
T4, IAREER M(B)M(A) "M (A1)~ ... M(A,) ' M(B), EHtSEREEER 1
M(A) "M(Apa) " .. M(A,) ™Y, 8f—REmasm

M(B)M(A)M (A1) ... M(A,)M(B).

RIEHIEUR B RATAL, AR F AR
M(B)"'M(A)M (A1) ... M(A,)M(B) fn
M(B)"'M(A;)""M(Ap1)~" ... M(A,) "' M(B).

TR AT AR LB 73 BI LS P NIREL, NS 4E = NMag A2, 5k, SEMEM IR, 2
%% O((n + q)(logn + logmod)).



